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First 15 minutes are allotted for
the candidates to read the

guestion paper.
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Instruction :
Answer all the

compulsorily.
Allotted marks of all the questlons

are indicated against them.
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Write the correct alternatives of the

1.
| following questions in your answer-book :

i) Buildingis
a) Current asset
b) Fixed asset
¢) both (a) and (b
d) none of these.
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Personal Account i1s

a)
b)
c)
d)

Machine

Commission

Drawings

None of these. i

Which of the following activities is
not the '‘business’' ?

a)
b)
c)
d)

Manufacturing

Contract work

Social service

Purchase and sale of shares. |

'One Thousand' Rupee note was
demonetised on

a)
D)
c)
d)

8th October, 2016

8th November, 2016

8th December, 2016

31st December, 2016. 1

Which of the following activities is
'labour' from the point of view of
Economics ?

a)
b)
c)
d)

Robbery
Smuggling
Chain snatching
None of these.
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Why is ‘Balance sheet’ prepared ? |
Where is 'contingent liabilities

shown in balance sheet ?
Who has invented Telephone ? I

Is all wealth, capital ?
Write the name of the Governor r::f

Reserve Bank of India. ]
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What is Bill of Exchange ? 9
Describe the Petty Cash Book. 9
Name any jfour time and labour
saving devices which are used in

business. .
Mention  any  four reasons for
dishonour of a cheque. 2

Mention any four characteristics of
Vertical Filing system 2
Describe any two characteristics of
‘Labour as a factor of production. 2
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From ;
the folowing  prepare 4

Bank \ .
Reconciliation  statement  on

31st December, 2019 :

) Debit Balance as per Cash Book of
the bank account Rs. 14,400.

i) Cheques of Rs. 10,160 deposited
into Bank but credited as Rs. 6,160.

iii) Cheques of Rs. 2,800 issued 1o
creditors but not presented for

payment.

.iv) Bank charged Rs. 400 as Bank

charges.

v)] A customer directly deposited

Rs. 4,000 into traders Bank

account. 4

T3 |

What 1S '‘Online Business ? State

2+ 2
its

2+ 2

merits.

[ Turn QVET

L?T’_’?‘?

829

8
A i) wﬁmaﬂmhwmﬁaf@ 2
i) fel A it & o A fefEn 12
q) i) e w| ORI
FT | 2

i) oo q@ fafar 4 3R it | 2

a) i) Write four characteristics  of
| indigenous bankers. 2

i) Write the names of any four
Private Banks. 2

b) i Define law of diminishing
utility. 2
i) Differentiate between saving
and investment. 2
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On “-1st October, 2019 Dev so

worth Rs. 75,000 to Aryan jon a Tr
18% and GST @5%) and

e period of three
ment, Aryan paid

ade

Discount @
received 2 Bill for th
months against its pay

the Bill on due date.
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books of Dev and Aryan-
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From the following particulars, prepare
-pare o

Balance Sheet of Sagar as on 3|y

F_December, 2019: 8

i R ] R’. '

Net Profit for the year T roesm
;__Cap:ital_e_lhs on 01.01.2019 b 1,00,000
Bank loan (01.01.2019) | 3,00,000
irﬂltcrest on Bank loan due ___ .' 36,000 |
" Outstanding salaries 12,000
!:Prepaid Rent and Tax ﬁ_.___"!_&-,(l;ﬁ{']
ﬁcrued Commission [ _____g-E_FDG-:] |
iﬂfﬁce Equipment Less Dc_p____ip_____‘_:i_,_‘_?ffhguﬂj
| Furniture & Fixtures Less Dep. | 1,25,000
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g. Thulla Bhai of Sambha) sold
. €
following goods to Kamesh, of Delh; -

100 bags of Potato @ Rs. 800 per bag
100 bags of Onion @ Rs. 900
- Expenses : '
Loading @ Rs. 3 per bag
Truck freight Rs. 2,000

per bag

Tranéit.expenscs Rs. 900
Prepare an Invoice,
OR

Prepare an Account sales with imaginary

1tems. 8
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9. Describe the various accounts 10 be
opened by the customers in &
Commercial Bank.

OR
‘Internet and Mobile Banking have
transformed positively the services
provided by banks.” Clarify it. 8

10. TS i & o @ v € 7 O e v
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10. What do vou understand bv capital
formation ? Describe the factors affecung
capital formation. 2-06

OR
Who is an Entrepreneur ? Describe the
main functions of an entrepreneur. 2 + 6
829 - 70,000
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